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S(3H) - HSAY - BA= = HR=2
L Ol &HOH o1 1} 1,645,537 1,151,206 494,331
2O0J| M EHO AT 327,470 331,970 A4 ,500
AN E2XINS SH(DKRESHEAY)(AEXI1Z) 327,470 331,970 AN 4,500
NAES NEXNS 303,970 308,470 A4 500
Bt AH| 221,970 226,470 A4 500
AP 22| | 221,970 226,470 A 4,500
Ogbtx=2H| 500
—MMESZ2 X0 e 8AHE &3 HMEt
=1 500,000 = 14! 500
O = 1,470
—JI22SAARAG EFAXG
70,000 «7H «33] 1,470
QXS (HNEZZ) 220,000
— XEJY HEANEEZ AUHEESZ2 A2
70,000,000%124 70,000
— el (=2X ¥ XA FHEE dUHES
= 1= 50,000,000 x324 150,000
oIz2tol A 12,000 12,000 0
DIZFAMAIEE X 12,000 12,000 0
OJlsBLAY 12,000
— XEHHI)sE2AY 12,000,000 14! 12,000
= 70,000 70,000 0
=N =1 70,000 70,000 0
Ooolzte = 70,000
— XHED|Y AFY X2 HOd 70,000,000 =124 70,000
20,000 20,000 0
20,000 20,000 0
HAEx 20,000 20,000 0
S8 XA 20,000,000 13| 20,000
&s3 3,500 3,500 0]
3,500 3,500 0
= 3,500 3,500 0
o JEHEEZ2 3 700,000 x5H 3,500
J12) 1,318,067 819,236 498,831
[12) (A =EXD12) 348,067 159,236 188,831
AMNBIEXI2-)I=ME(HX2) 348,067 159,236 188,831
348,067 159,236 188,831
348,067 159,236 188,831
348,067,000 « 14! 348,067




AN el 04t

H: MHWRE=S(AMI=EXIIZ2)
S A EXIIZ2(HEZ2)(MIIEXIN2) (2 &HH)
- _ _ RE]

SA BB (3H) - NRAY - B Ol At o &@ﬁ HRE2
AMBEXIN2(HEZ2)(AEXDINZ) 970,000 660,000 310,000
AMNBEXIN2-JIZMHE(HEZ) 970,000 660,000 310,000
704 OlE& 2 970,000 660,000 310,000
01 =2 970,000 660,000 310,000

@I\ E=PIF=; 970,000,000 970,000




